
UPS RAILS
3U RACK KIT   

FDC-RK0903U

2-year

w
arranty *

Hardware
included

Up to 1100mm
depth

80kg
max weight



M6 cage nuts

M6 srews

Right rail

Important safety instructions (save this sheet)

Thank you for purchasing the Forza 3U rack UPS rail kit.

This quick installation guide contains instructions and warnings that must 
be followed during the installation and use of the product. Failure to 
comply may invalidate the warranty and cause property damage or 
personal injury.
Rackmount equipment may be extremely heavy—be careful when moving 
or lifting equipment. Use one or more assistants if necessary.

1. Package content 

Upon opening the box, make sure the following items are included.
•  Right adjustable rail  1
•  Left adjustable rail  1
•  M6 cage nuts   6
•  M6 screws   14

•  Threaded studs 

2. Installing the rails into the rack
Required tools: Phillips screwdriver

Step 1:
• Upon unpacking the product, remove the safety screws holding the sliders 

together inside the box.

• Slide the two ends of each rail, making sure to match the distance with the depth 
of the rack or cabinet you are using. For example, if the depth of the rack 
chassis is 700mm, the length of rail should be adjusted to 700mm.

Left rail

Use pliers to press the safety tab down in case you need to extend the rail 
beyond the first adjustment point.  

• Next, attach both rails using four screws per rail in the corresponding holes in 
front of the vertical posts, as illustrated below. Finish by tightening them firmly in 
place.

Step 2: 
Use three M6 screws to secure each rail into the back of the chassis, as illustrated 
below.  

Step 3: 
Depending on the UPS or network equipment height, proceed to insert the 
supplied cage nuts into the corresponding square hole locations.

Screw driver

M6 srews

Nut

M6 srews



Step 4: 
• Install the UPS or network equipment by aligning the assembled ears with the 

holes on the chassis posts.

Step 5: 
• Finish by securing the UPS or network equipment on the rack or cabinet.

Step 6: 
• Assembly is now completed

• Periodic checks should be conducted to make sure the equipment is stable and 
properly secured in your installation.

• Se deben realizar inspecciones periódicas para comprobar que el equipo está 
estable y debidamente asegurado en su instalación.

Paso 4:
Monte la UPS o el equipo de red alineando las placas de montaje ya instaladas en 
la unidad con los orificios ubicados en los postes del chasis. 

Paso 5: 
Finalmente asegure la UPS o el equipo de red en el bastidor o gabinete.

Paso 6:
• Con esto concluye el proceso de ensamblaje.



Tuercas M6

Tornillos M6 

Riel derecho

Medidas de seguridad importantes (guarde esta hoja)

Gracias por preferir el kit de rieles de 3U para sistemas UPS de montaje 
en bastidor.
Esta guía de instalación rápida contiene instrucciones y advertencias a las 
cuales debe adherirse el usuario durante la instalación y utilización del 
producto. De no cumplir con tales requisitos, podría anular la garantía, 
además de correr el riesgo de ocasionar daños al equipo o lesiones físicas 
al operador del equipo.
Los equipos para montaje en bastidor pueden ser extremadamente 
pesados —tome las precauciones necesarias cada vez que mueva o 
levante este tipo de dispositivos. De ser necesario, use a una o más 
personas para que lo asistan.

1. Contenido del empaque

Apenas abra el empaque de cartón, cerciórese de que hayan sido 
incluidos los artículos siguientes.
•  Riel ajustable, lado derecho 1
•  Riel ajustable, lado izquierdo 1
•  Tuercas con retén M6   6
•  Tornillos M6                 14

2. Instalación de los rieles en el bastidor
Herramientas requeridas: Destornillador phillips 

Paso 1:
• Al momento de abrir la caja, saque los tornillos de seguridad que fijan las guías 

deslizables de cada riel.
• Deslice ambos extremos de cada riel, con el objeto de que la distancia entre 

ellos coincida con la profundidad del bastidor o gabinete que está utilizando.  
Por ejemplo, si la profundidad del chasis es de700mm, la longitud del riel debe 
quedar ajustada en esa medida.

Riel izquierdo

Ejerza presión con un alicate sobre la pestaña de seguridad del riel en caso de 
que necesite extenderlo más allá del primer punto de ajuste.  

• A continuación, utilice cuatro tornillos para fijar cada riel en los orificios de los 
postes frontales, tal como se ilustra a continuación. Proceda a apretar los 
tornillos para fijarlos firmemente en su lugar. 

Paso 2: 
Utilice tres tornillos M6 para asegurar cada riel en la parte posterior del chasis, tal 
como se ilustra a continuación.    

Paso 3: 
Dependiendo del alto del sistema UPS o del equipo de red, proceda a insertar las 
tuercas con retén en los orificios cuadrados respectivos.

Destornillador 

Tornillo M6   

Tuerca

Tornillo M6



FDC-RK0903U

Kit de 
herrajes

Hasta 900mm
profundidad

120kg
peso máximo

RIELES PARA UPS
KIT DE 2U PARA 

BASTIDOR   


